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break
continue
return
goto
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if (condition) if (condition) if (condition) { if (condition) {
statement statement statements statements
else } ]
1 (@) statement else {
a- 100 statements
J
if (a<3)
cout « "a= 35 CF ZFCE" (¢ endl;
else {
cout « "a— 3ECF 2K 2LCE" (¢ end];
a-=0;
J
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#include dostream
using namespace std;

void main(void)

{

int Num;

A ..
cout « " A=
cin » Num;

cout «« "EHAI0| 2 SF ZF" « Num «

if (Num %2 --0)

cout « "= L CE" (¢ endl;
else

cout « "= 2 L CL" «¢ end];

no —=~\n.
L — )

e




1= e, 1.
M EN - qwiteh -

) - ‘?j A 9=¥ (int, char, boo)TF 5] & int age - 21;
K/
switch (condition) { switch (condition) | switch (age) {
case vall: case vall: case 20 :
statements; statements; cout « "20M[" < endl;
case val2: break; break;
statements; case val? : case &1.:
cout « "21M|" « endl;
...... statements;
break;
default : break; )
case 22 :
sy e cout « "22A[" «¢ endl;
} default : break:
statements default :
break; cout « "20M[ 2 CF 2L}
1 O =2 o
switch <= if <} \ 99 M 2 CF AT « endl:
B B 2] &)
s = break;
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#include dostream»

void main(void)

{

char Score;

cout « "=

cin » Score;

using namespace std;

olgd . n.

[ == Ry Y

5

switch (Score) {
case 'A' :

cout « "0 F EM S L CL" «¢ endl;

break;
case'B':

break;
case '(" ;

cout « "= O

break;

case'D' :
cout «
cout « "X =2
break;

case ' :
cout « "SFE
break;

default:

n A x|

cout «« " 20| &l

break;

= BFSEM[ 2" «¢ end];

Z0| o  H2 L CL" « endl;
Z 2 2 EE" « endl;

CIA| SH ORI 2." «« endl;
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for (statementl; condition; statement?)

statement

for (statementl; condition; statement?) {

statements

int Sum - 0;

for (inti-=1;1«= 10;i++){

Sum - Sum + i;

)
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using namespace std,
<

void main(void)

{

int Numl, Num?2;
int Sum - 0;

cout « "= 27l l2d

cin » Numl » Num?;
for (inti = Numl; i (- Num?2; i++) {

ifG%2--1){
Sum +- i;

= _AL = .
cout «« "= T2 22" «« Sum « "2 HCL" «¢ endl;




. 1.
- . while 3

while (condition) while (condition) {

statement statements

int Sum - 0

inti-1:
for =01 A statement13}

statement2= A =3l A ¥} F

while (i - 10) {

Sum +- i

for(inti-1;1« 10;i++) {
1++ Sum - Sum + i;

} }
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#include dostream
using namespace std;

void main(void)
{
int Num;
int Sum - 0;
cout « " 2=
cin » Num;

while (Num !- 0) {
Sum +- Num;
cout « "M =

cin » Num,

}

cout «« " Al " «« Sum « endl;
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statement

while (condition);

int Sum - 0;

inti-1;

do {
Sum +- i
1++,

} while (i <= 10);

do {
statements

} while (condition);
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B do ~ while = — 9455 1 Al

4 E i _1 %J sl O] #include dostream»

-1 -
using namespace std;

void main(void)
{
int Num;

int Sum - 0;

do {
cout « "AFei= 2E (17 10): "
cin » Num;

Sum +- Num;
} while (Sum <= 30);

cout «« " Al 1" «« Sum « endl;
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void main(void)
{
int Numl, Num?;
cout «« "AFed =07 1= .

cin » Numl » Num?;

X —_—r A .
cout « Numl «", " «« Num? « "2| Z|CH &2k "«

GCM(Numl, Num?) « endl;
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int GCM(nt Numl, int Num?)

{
int M, N:

if (Numl > Num?) {
M - Numl;
N = Num?;

}

else {
M - Num?;
N - Numl;

}

int R-M%N;

while (R!-0) {
M- N;
N-R;

R-M%N;
J

return N;




